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 ميهاربإ دوواد ميهاربإ
 م٢٠٢٣ وينوي ٦ :خيراتب اًينورتكلإ رشن
 ددع وھ نییلوا نیددع يا عومجم نا تابثا -1
 :)ةیوقلا خابدلوج ةیسدح( يجوز
 ھناف يجوز ددع E و يلوا ددع P نا ضرفنل
 دئاز يجوز ددع يواسی يلولاا ددعلا ةرورضلاب
 :دحاو

P=E+1 
 E1و نییلوا نیددع P2و 1P نا ضرفنل نلاا
 :يلاتلابو نییجوز نیددعE2و

P1=E1+1 
P2=E2+1 

 :يجوز ددع وھ نبیجوز نیددع يا عومجم
E1+E2=E 

 :يجوز ددع وھو 2 يواسی 1و 1 عومجم
1+1=2 

 وھ نییلوا نیددع يا عومجم نا ينعی اذھو
 2و نییجوز نیددع عومجم

P1+P2=E1+1+E2+1=E1+E2+2 
 .يجوز ددع نوكی نا بجی جتانلا نا يرن امك
 ددع لك ناف ىرخا ةیحان نم

 ھتباتك نكمی 2 نم ربكأ يجوز يعیبط حیحص
 :نا يا ,نییلوأ نیددع عومجم لكش ىلع

E= P1+P2 
E= E1+1+ E2+1 
E= E1+ E2+2 

 ددع وھ ةیجوز دادعا ثلاث عومجم ةجیتنو
.يجوز  
 2 يف يلوا ددع يا انبرض اذا ىرخا ةھج نم
:يجوز ددع ةجیتنلا نوكت  

2P1 =E1             

2P2 =E2 
:نینلداعملا عمجب  

2P1+2P2=E1+E2 
 ددع وھ E1E+2 نییجوز نیددع عومجم نا امبو
 :ةلداعملا حبصت ,E يجوز

2P1+2P2=E 
 ددع يا نا ةظحلام عم 2 ىلع نیفرطلا ةمسقب
:يجوز ددع ةجیتنلا نوكت 2 ىلع ھمسقن يجوز  

P1+P2=E 
.نییلوا نیددع عومجم وھ يجوزلا ددعلا نا يا  
 ددع لك " يھ معلااو لمشلاا ةیرظنلا نكلو

 ھتباتك نكمی 2 نم ربكأ يجوز يعیبط حیحص
  "نییدرف نیددع عومجم لكش ىلع

يملعلا رشنلل طسولأا قرشلا ةلمج  
 )٢( ددعلا )٦( دلجلما
  رشع عساتلا رادصلإا

)٢٠٢٣ )٣-١ 
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 ةیسدح( يدرف ددع وھ ةیلوا دادعا ةثلاث عومجم -
 2 :)ةفیعضلا خابدلوج

  ناف اقباس انحضوت امك
P=E+1 

 ةثلاث عومجم وھ ةیلوا دادعا ةثلث عومجم يلاتلابو
3 دئاز ةیجوز دادعا  

P1+P2+P3=E1+1+E2+1+E3+1=E1+E2+ 
E3+3 

يدرف ددع نوكی نا بجی جتانلاو  
1-Prove that the sum of any two prime 
numbers is even (Goldbach's strong 
conjecture): 
Suppose that P is a prime number and 
E is an even number, then necessarily 
a prime number equals an even 
number plus one: 
P=E+1 
Now suppose that P1 and P2 are prime 
numbers and E1 and E2 are even 
numbers, thus: 
P1=E1+1 
P2=E2+1 
The sum of any two even numbers is 
an even number: 
E1 + E2 = E 
The sum of 1 and 1 equals 2 which is 
an even number: 
1 + 1 = 2 
This means that the sum of any two 
prime numbers is the sum of two even 
numbers and 2 
P1+P2=E1+1+E2+1=E1+E2+2 
As we can see that the result must be 
an even number 

On the other hand, every even natural 
integer greater than 2 can be written 
as the sum of two prime numbers, i.e.: 
E = P1 + P2 
E= E1+1+ E2+1 
E = E1 + E2 + 2 
The result of the sum of three even 
numbers is an even number. 
On the other hand, if we multiply any 
prime number by 2, the result is an 
even number: 
2P1 =E1             

2P2 =E2 
Adding the two equations: 
2P1+2P2=E1+E2 
Since the sum of two even numbers 
E1+E2 is an even number E, the 
equation becomes: 
2P1+2P2=E 
Dividing both sides by 2, noting that 
any even number we divide by 2 will 
result in an even number: 
P1+P2=E 
That is, an even number is the sum of 
two prime numbers. 
But the most comprehensive and 
general theory is that "every even 
natural integer greater than 2 can be 
written as the sum of two odd 
numbers." 
2-The sum of three prime numbers is 
an odd number (Goldbach's weak 
conjecture): 
As we explained earlier, the 
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P=E+1 
So, the sum of three prime numbers is 
the sum of three even numbers plus 3 
P1+P2+P3=E1+1+E2+1+E3+1=E1+E
2+E3+3 
The result must be an odd number  


